UNV-ADP - Universal Adapter ‘

MOUNTING BRACKETS ACCESSORY

Compatible with: #1, #5, #6 Mount Fixtures & #2 pole mount

B D

COVER (2]

[ 10-24 SCREW (4) £

/
Q
Q
Q
v
: @ 56
® 56 @ 44
2) PLCS\J% . ’74 14) PLCS
62 o
) \\‘O |

\*O— 88 400
_{ 350 787 56 450
o]0
O
° { 4
le—4.15 —= le—=}—206 200
#2 DRILL PATTERN UNIVERSAL DRILL PATTERN
FIXTURE SIDE POLE SIDE
Mounting Notes: Shipping Package Contents:
1. Position universal adapter's pole side (labeled Universal Adapter (1)
above) to drill pattern on pole. Cover (2)
2. Secure adapter to pole using the supplied hardware: 1/2 Split Washer (2)
(2) 3/8-16 screws, (2) 3/8 split washers, (4) 3/8 flat 1/2 Flat Washer (2)
washers, and (2) 3/8-16 nuts. 1/2-13 Nut (2)
3. Assemble fixture to universal adapter's fixture side 1/2-13 Screw (2)

using the supplied hardware: (2) 1/2-13 screws, (2) 10-24 Screw (4)

1/2 flat washers, (2) 1/2 split washers, and (2) 1/2-13 3/8 Flat Washer (4)

nuts. 3/8 Split Washer (2)
4. Install (2) covers using (4) 10-24 screws. 3/8-16 Nut (2)
3/8-16 Screw (2)

Material: Steel
Finish: Powder Paint

Weight: 5 Ibs
Spaulding Lighting Technical Support: (864) 678-1000 Catalog No.: UNV-ADP
701 Millennium Blvd Fax: (864) 898-1065 Doc. No.: 93062479

Greenville, SC 29607 www.spauldinglighting.com



